[$&#RHE]
ABERERMOZA

/ ORIRER \

EHHESHB)

OERR
EIRBDICHBSE 10KW OABHABREEZIA,

ONRFAED (REEHZESEXHE I DRE)

EIYEAE]S] FREHIEIE e
ENE 11,000kWh 10kW X 1,100kWh/kW
bR E 3,905kegCO, 11,000kWh X 0.355tCO,/F kWh
EIRE 176,000 M 11,000kWhX 16 B/kWh (E085h)

XHEBRED 1kW HIZDDHBENE © 1,100kWh/F

OR&ELQRFD (REEHZEEBREEIDIRS
##&8 1 40000003 = 400,000 F3/KWX 10KW
MRESE 1kW B72 D 400,000 MO 18%E

BREOQINEFH : 227F = 4,000,000 A-+-176,000 B (DRSSO

OMRAEQ (REEZETEMBEMHE ICLKDEETEI DRSS

EINEAELS] FRAEIG=E A8
ENH=E 11,000kWh 10kW X 1,100kWh/kW
“EtiRERE 3,905kegCO, 11,000kWh X 0.355tCO,/F kWh
ERE 396,000 B 11,000kWhxX36 B/kWh (EBHE\ERD [ig)

XKHEBED 1TkW HIZDDHEEBENE © 1,100kWh/5F
XEVIRDMSZ KWh HI20 36 A (Fuik « AL 26 FE 2 BIRE) CIRE

OREQNFR (REBZEEMBBMHE™ICKDEBFTET JBES)
##88 : 4000000 = 400,000 F3/kW > 10kW
MABEE 1kW B2 400,000 BDHREEME.

REOINFH 105 = 4,000,000 B-+396,000 A3 (LidBIEEDNE)

OBER
* RESE 1kW HIZ D D%1HIHS
VKIS R EBRIBDREZANIC K DREDIEROHAHBROMUSUEDNE LD EDD,
KD ESLISDTEMN D D,
ZI%@%@HE%JFEE%@“%@CL&& ZL I8 DYREMEDD D,
RIEA —N—DOEMEHICKD, SELZIILDTEEDDD.
. 7@]@(&%’((3%0&2@1@”& 36 A/kWh TERE L TNDA\ SEEENTDIUEMUEDD
Do

K1 BETTRLE 8 I BN kD 0, 1Y) BN CHBSNEEEA, /




